Section 4-1  Review: Solving Systems of Linear Equations
A system of linear equations in two variables can be expressed as follows:
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Example 1:

2x – 3y = 24

-x + 2y =  6
	Elimination by Substitution

Solve second equation for x:

-x = -2y + 6

 x =  2y – 6

Substitute for x in other equation and solve for y:

2(2y – 6) – 3y = 24

4y – 12 -3y = 24

y – 12 = 24

y = 36

Find corresponding value of x:

 x = 2y – 6

 x = 2(36) – 6

 x = 72 – 6

 x = 66
	Elimination by Addition

Multiply second equation by 2:

2(-x + 2y =  6)

 -2x + 4y = 12

Add result to first equation and solve for y:

 2x – 3y = 24

-2x + 4y = 12

-------------

       y = 36

Substitute y = 36 into first equation and solve for x:

2x – 3(36) = 24

2x – 108 = 24

2x = 24 + 108

2x = 132

 x =  66


Graphical Interpretation:[image: image1.wmf]2

2

1

1

2

2

2

1

1

1

or  

 

b

x

m

y

b

x

m

y

c

y

b

x

a

c

y

b

x

a

+

=

+

=

=

+

=

+


2x – 3y = 24

	x
	y

	0
	-8

	12
	0

	66
	36


-x + 2y = 6

	x
	y

	0
	3

	-6
	0

	66
	36


Example 2: 
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	Elimination by Substitution

Substitute y from 1st equation into 2nd and solve for x:
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Substitute for x in 1st equation and solve for y:
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	Elimination by Addition
Add negation of 2nd equation to 1st and solve for x:
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Substitute for x in 1st equation and solve for y:
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Graphical Interpretation[image: image9.png]
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	x
	y

	0
	-2

	-4
	0

	-58/17 ≈ -3.412
	-5/17 ≈ -0.294
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	x
	y

	0
	7/11 ≈ 0.636

	-7/3 ≈ -2.333
	0

	-58/17 ≈ -3.412
	-5/17 ≈ -0.294
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